Economics 233 – International Finance

Fall 2004 – Final Exam
Please answer questions 1 and 2.  You must answer three of the five questions in section II – maximum length of 3 bluebook pages per question.  As always, all work must be shown to receive full credit. Best of luck and have a great holiday!

Part I – Answer both questions
1.
The Capital Transformer Company is expanding its business in Spain with the construction of a new facility to produce transformers for the European Market.  The plant will cost 30 million euros (in year 0), but will significantly increase the firm’s rate of return in the European market.  One year after completion, Capital’s profits will rise by 20 million euros, followed by a 40 million euro increase in profits in each of years two and three.  Capital has access to credit both in Spain and in its home country (the US).  Interest rates in Spain are currently 7%, while they are 9% in the US.  The euro is expected to rise in value over the life of the investment:




Year

$/euro





   0

 $1.30





   1

 $1.32





   2

 $1.34





   3

 $1.35 

The accountants at Capital have decided that if the project is financed entirely in Spain, the exchange rate should be set at $1.32 when the money is returned to the US.


Where should the firm borrow the money?

2.
Canada and the U.S. are both major producers and exporters of wheat.  Suppose that a bushel of wheat currently sells at parity between the two countries, with a bushel costing $3.50 in the US and C$4.20 in Canada, and the C$/$ exchange rate equal to 1.2 per US dollar.  The inflation rate on tradeables in Canada is expected to be 3.8%, while it will be only 2.3% in the US.
a.
If Purchasing Power Parity holds, what will happen to the C$/US$ exchange rate over a 1-year period?

b.
Prove your answer by showing that a bushel of wheat will still cost the same in the two countries after one year has passed (if PPP holds).

Part II – Please answer three of the following.  As indicated above, I will only read the first three pages of your answer.
1.
State 3 of the underlying causes of the debt crisis in the developing world.  Carefully explain each.  How did the IMF attempt to “solve” the crisis – make sure you address conditionality.  State one “innovative” solution that has been tried.
2.
Carefully explain each of the following as it relates to the risks associated with the eurocurrency market:


-No required reserve ratio



-Asset-Liability mismatch of eurobanks


-differences in regulation prior to the installation of the European Central Bank – give a couple of examples

3.   
State the five payments methods that were discussed in class. Explicitly explain the risks borne by both importer and exporter under each method.  

Given your answer, explain why a Letter of Credit continues to be the most popular payments method.  

Part II -  Explain how Factoring and Counter-trade can be used to finance international trade.
4.
State five factors that drive direct foreign investment.  One of the five must be GDP correlations.  Apply your answer to a Canadian firm looking at the US market.  You don’t have to give specifics, just use common sense.

5.
Explain the evolution of foreign banking the US, particularly as it relates to differential regulation by the Fed.  Make sure your answer includes:



-Branch banks of US banks




-Edge Act Corporations




-International Banking Facilities


Part II – Give a couple of examples of Central Bank authority (and regulatory powers) across countries, and compare to the Fed.
